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Figure 1. FIR SED of the galaxies of the JINGLE sample, fitted with the hierarchical approach using the three models: SMBB (left

panel), BMBB (middle panel) and TMBB(right panel). The shaded regions show the lower and upper 1-sigma uncertainties on the SED
models , defined by taking the maximum and minimum flux values of the models with likelihood values in the highest 68th percentile.
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Figure 2. Continuation of Figure 1.
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Figure 3. Continuation of Figure 1.
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Figure 4. Continuation of Figure 1.
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Figure 5. Continuation of Figure 1.
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Figure 6. Continuation of Figure 1.
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